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USES OF THE TABLES.

log.
^. - 4343209 -f •0021396 (log. r) = 203

monthly instalments (very nearly).

Ex. 6 —{Number, Form 15).

a. 6%"c™Srh"a!f%';;?'''" '•' * "'" • -<l"i- <o repay a ton „, ,„s

"' =^,llll
-= ' ^

"^»'='=^> = '•-4,38..
; ,=.„„„38.. ,„g. . =^.„,

log. fl - 0-

log. (a- Vt)orS = U^^n^

lOfr "3;= 4343209

(% Table ir, 203 monthly instalments of $, = J.^S.oor).

.Ex. 7.—(Z>^^^^^^^,^,,^^.^^ p^^^ ^^^

further term of 27 years in reversion aflprThf ^ ^""' "^ 9 years
; C has a

.n perpetuity after "the 54 years What is thf^n^''"'';""?
^ ""'' '^^ '^'^^'^on

each .nthe estate, at 4%. compounded Jearly^ ^ '
'"'"' °^ ^^ •"'^••^«' °f

a-IOO; r_x.04; /^ 04; log-- ^1703.33393; log. / = ,oo20600; for A;« = n •

forB,«=x8and^=9;forC.«
= 27and^=27forD r -^

' 9,
petuity and d= 54

' 27
,

for D. r= - or p. v. of per-

(6) 9 X log. r= 1633001 (6)

'"= 1-42331

log. /"- I =l^6266604

log. a = 2-

C* log. / = 1 3979400

C log. r» = 18466999

log. F = 28713003

^=$743-533

B
18 X log. r= 3066001

'^'^^ 2.02582
'-"-

1 = 1.02582
log. ;'»-!= ^^Hom

log. a = 2

Clog. / = 13979400

Clog, a" = 16933999

log. r = 31024096

(6) 27 X log. r= 4599002

^"=2.88337

'"-1=^^88337
log. t^-i= 27mB*

log. tf = 2

C' log. / = 13979400

Clog. ^" = rB400998

log. f^-Vmma

(By 1 able V).

^I7^nxl«„ '"S- »- =3 2129782

^ = $889,425 Z? = $566.337

P.V. o, $1 tor 9 years = 7.4353 - lOO = 743.53 = A's ah.re H
" ^7 .. i^:^^9^

D = P-n.etu.t,- =2500.00

- 9 .. r43S3
-(A + B + C)= 2199.30

l!9^3JLioo=: 889.43 =B's ..

D's share = $^300. 70

" 54 " = 21.9930
- 27 II = 16 3296 u

__ A^3i!L'°° =^56634 = c's 11

2199.30


